8.2 1t Fundamental Theorem of Calculus PRACTICE

| Find the antiderivatives of the following. |
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| Evaluate the definite integrals using the Fundamental Theorem of Calculus.
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| Evaluate the definite integrals using the Fundamental Theorem of Calculus.

A

1. _
j|x+3|dx 5(_7( Q‘IMS(”‘”\“" E IL+1 '-'*“f?:,\ e

)

\ /.,J;?—- x+ 7
y=-043 9 gﬁi

[_lﬂcj :% [ );1-1*'5?\]
[—Lg—g) - 3hﬂ —EL‘(-S' —'5(—*5] ¥ L)e,,)‘.a»'sLoﬂ-B;(-s\L* ?('%
3

L; *ﬂ‘["—ﬂ—h’] b Lo} - [0

q 5 + 9
=z 3 r
|
1 11 = %
| Find the area of the shaded region.
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8.2 The 1st Fundamental Theorem of Calculus TEST PREP

MULITPLE CHOICE
1. A

2. D
3. E
4. D
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1. A particle moves along the y-axis with velocity v(t) = —i sin (E t) cm/sec fort = 0 in seconds.
(A) In what direction is the particle moving at t = %? Justifv.
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The particle is moving down because the velocity at #=7% is negative.

(B) Find the earliest time, t; > 0, when the particle changes direction.
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(C) What is the particle’s average acceleration over the interval [0,¢,] ?
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(D) Does the concavity of the position function, s(t), change sign over the interval [0,¢,] ?
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The concavity of the position function changes sign at #=1 from concave down fo concave up



